Dawson College: Winter 2019: Linear Algebra (SCIENCE): 201-NYC-05-S6: Quiz 9 name: L L@WMWM&
aining marks are given for the work.

cell phones are allowed. You must show all your work, the correct answer is worth 1 mark the remaining

No books, watches, notes or

Question 1.! CGiven the points A(—2, 0"{:!9 and B(-2,1,0).
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a. (5 marks) Find the point C’:cfn thegyz~ialane such that the points A, B and C are collinear.
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b. (5 marks) Using vectors determine whether the points A and B are on the same side of the plane 7z +y + 2z = 1.
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Question 3. (5 marks) Use a projection(s) to find the distance from the point P(2,3,1) to the plane 3z; — x2 +4x3 = 5. And find
the closest point 0}1£ e plane to the given point. Lol XzXp0 =7 X,=-§ ; (0, -5,0 ]
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